
 
 

Rozwiązanie: 

Objętość całej Ziemi: 𝑉1 =
4

3
𝜋 ∙ 63713 = 344 795 470 415𝜋 

Objętość skorupy ziemskiej: 𝑉2 = 𝑉1 −
4

3
𝜋 ∙ 63113 = 9 650 059 458𝜋 

Stosunek objętości: 
𝑉2

𝑉1
∙ 100% ≈ 2,8% 

 

 

 
 

Rozwiązanie: 

Powierzchnia Ziemi: 4 ∙ 3,14 ∙ 63712 = 509 805 891 

Powierzchnia jednego kraju: 509 805 891: 194 = 2 627 865 

Porównanie do Polski: 
2 627 865

312 679
≈ 8 



 
 

Rozwiązanie: 

30% ∙ 7% ∙ 42% ∙ 7% = 0,3 ∙ 0,07 ∙ 0,42 ∙ 0,07 = 0,0001674 

0,0001674 ∙ 100% ≈ 0,06% 

 

 
 

Rozwiązanie: 

5,972 ∙ 1024 ∙ 3,3 ∙ 105 = 19,71 ∙ 1029 = 1,971 ∙ 1030 ≈ 2 ∙ 1030 



 
 

Rozwiązanie: 

0,07 ∙ 0,292 = 0,02044 ≈ 0,02 


